DU MPhil PhD in Adult Continuing Edu N Extn

Topic:- DU_J19_MPHIL_ACEE

1) Classroom discussion is normally considered as-

HET TGT 3TH R R P | JHET ST o-
[Question ID = 15022]

1. Cognitive/SMIA® [Option ID = 30086]
2. Selective/aT-Td® [Option ID = 30088]
3. Affective/HTdIdH® [Option ID = 30087]
4. Effective /IHTaT [Option ID = 30085]

Correct Answer :-
« Affective/HIdTdHD [Option ID = 30087]

2) Which of the following book written by Ivan Illich?

3 sfera grT forfea e & @ o9 &t e 82
[Question ID = 15062]

1. Demoralized society/SHTST &1 gferd g1 [Option ID = 30247]
2. Democratic society/?'ﬁav_crﬁ$ HHIST [Option ID = 30248]

3. Decentralized society/ﬁw HHNST [Option ID = 30245]
4. De-schooling society/@pr-@ﬁ"[w [Option ID = 30246]

Correct Answer :-
« De-schooling society/SI-¥hi¢iTT FHTST [Option ID = 30246]

3) Which of the following Organization looks after the quality of technical and Management Education in India?

FrafafEa & ¥ o9 a1 W6 URa ¥ as-iet R yaus Rrem ot quras I 93182
[Question ID = 15051]

1. NCTE/TFEIEIE [Option ID = 30201]

2. AICTE/T3SdIdIs [Option ID = 30203]
3. CSIR/HTHSMEIMR [Option ID = 30204]
4, MCI/UH3{TE [Option ID = 30202]

Correct Answer :-

« AICTE/U3flsEIdS [Option ID = 30203]

4) Which of the following is untrue about Deemed University?

s fayfaenea & 9 A fFufafaa d ¥ 919 91 s 82
[Question ID = 15065]

1. It has full autonomy in setting course work/dg UIGAHH bl hTH TUd F3A o q:UfERﬁl?ﬂ % [Option ID = 30257]

2. It prepares own guidelines for admissions and fees/dg I 3R RJch & forw Ya P feznfdy TUR a1 g [Option ID = 30258]
3. It can award degrees under its own name/dg 3 A F dgd ST IS R Iohdl & [Option ID = 30260]

4. It can affiliate other institutions/Jg g TR Bl Yag B TbdT § [Option ID = 30259]

Correct Answer :-



« It can affiliate other institutions/dg 3= YRIMI &I Hdg B Ybhdl & [Option ID = 30259]

5) Which of the following is not a Professional Course?

fafafad # @ $19 arauiie uegsH T8 872
[Question ID = 15066]

1. Fine Arts/dfefd @l [Option ID = 30264]

2. Pharmacy/%THdT [Option ID = 30261]

3. Engineering/SIARAT [Option ID = 30263]
4. Law/@TI [Option ID = 30262]

Correct Answer :-
+ Fine Arts/dferd &l [Option ID = 30264]

6) Which one of the following is a research tool?

frafafaa & O <19 91 T Wy IuHT 82
[Question ID = 15034]

1. Questionnaire/%lﬁ?ﬂ [Option ID = 30135]
2. Diagram/fe [Option ID = 30136]

3. IIIustration/ﬁHUT [Option ID = 30134]

4. Graph/JT%® [Option ID = 30133]

Correct Answer :-
. Questionnaire/ﬂ%ﬂﬁ?ﬁ [Option ID = 30135]

7) Which one of the following is a non-probability sampling method-?

fFrafafEa & ¥ $19 91 ve R-JyTegar FgATSRr fafy 8-2
[Question ID = 15026]

1. Simple random sampling /¥Rd HE%EHTEW [Option ID = 30101]
2. Quota sampling /@IeT TATHRUT [Option ID = 30104]

3. Cluster sampling /&T¥cR FHATHRUT [Option ID = 30103]

4. Stratified sampling /Wqﬂﬁw [Option ID = 30102]

Correct Answer :-

« Stratified sampling /¥RIgd THATHRU [Option ID = 30102]

8) Which one of the following is an indication of the quality of a research journal?

Frafafaa & ¥ S99 91 ve 9-a (Y ufeT) F quasr &1 TFHa 82
[Question ID = 15031]

1. G-index/Sit @i [Option ID = 30123]

2. H-index/ Td Jhich [Option ID = 30122]

3. Impact factor /UHTd ®R$ [Option ID = 30121]
4. 1 10-index/I 10- 3FIHHIHT [Option ID = 30124]

Correct Answer :-
o Impact factor /UHId ®RP [Option ID = 30121]

9) Which one of the following is not a type of experimental method?

Fafafed # & o= 9@ 3t uaifie faf =78 82



[Question ID = 15028]

1. Single group experiment /U d Tz TART [Option ID = 30109]

2. Residual group experiment/3fafR1¥ T¥Hg WART [Option ID = 30110]
3. Rational group experiment /FIWTH WW‘T [Option ID = 30112]
4. Parallel group experiment/ﬂﬂﬂmﬂ;s’m [Option ID = 30111]

Correct Answer :-
« Residual group experiment/\%iaﬁ’rg ?ﬂ{s’tﬂﬂﬂ [Option ID = 30110]

10) Which is not a correct statement?

P 91 HYF T 8l 8?2
[Question ID = 15049]

1. A test cannot be both valid and reliable/T& TR1&foT 3y aﬁ?ﬁwﬂa CEIEREEED % [Option ID = 30195]

2. A test cannot be valid without being reliable/Ud R1eur fayig 89 & o 7 78t 81 wah [Option ID = 30194]
3. A test can be valid without being reliable./Te Tiei01 fa4=i 819 & fo=T 94 81 TebaT g1 [Option ID = 30196]

4. A test can be reliable without being valid. /a%[ BH & fomdt ue wlierun faywmia 8 g H [Option ID = 30193]

Correct Answer :-
» A test can be reliable without being valid. /%*a{ B & farmfl T uieron fasyemia gt Ibar %I [Option ID = 30193]

11) Deconstruction is a popular method of research in-

SpwRM (AEs) STHYH T TH B0y a8 8-
[Question ID = 15024]

1. Applied science/STagTNG AR [Option ID = 30094]
2. Basic science/§fA3rct fa [Option ID = 30093]

3. Social science/STHT® fasH [Option ID = 30095]
4. Literature/dTed [Option ID = 30096]

Correct Answer :-
« Literature/dTied [Option ID = 30096]

12) Folk High School were created on the concept of

A I faemery & @YRUT YR I91IT 7T U7
[Question ID = 15057]

1. Piaget/fUdmYe [Option ID = 30225]

2. N.F.S. Grundtwig/T.U%h.TH. Grundtwig [Option ID = 30228]
3. John Dewey/SIF $dT [Option ID = 30227]

4. Paulo Friere/dr3dl Ty [Option ID = 30226]

Correct Answer :-
« N.F.S. Grundtwig/T-.Uth .. Grundtwig [Option ID = 30228]

13) An example of non-personal method of Data collection is called

3T TUE B R-AfRATd Ui &1 T IeTevur 8-
[Question ID = 15045]

1. Telephone interview/S@hIF TR [Option ID = 30179]
2. Group interview/dHg HI&TchR [Option ID = 30178]

3. Schedule/3{ gt [Option ID = 30177]

4. Interview/d1&Tch R [Option ID = 30180]



Correct Answer :-
o Telephone interview/cath I ATETHR [Option ID = 30179]

14) Policy statement of UGC regarding extension in Higher Education was given in the year

Io Rren ® favaR & Way o geikit &1 Hifa aoqer af & faar mar ur
[Question ID = 15056]

1. 1980 [Option ID = 30224]
2. 1977 [Option ID = 30223]
3. 1975 [Option ID = 30222]
4. 1970 [Option ID = 30221]

Correct Answer :-
e 1977 [Option ID = 30223]

15) Jan Shikshan Sansthan is a scheme sponsored by

S fR1e1o1 TR gRT YA U e 8
[Question ID = 15054]

1. Local Self Govt./Ri1g W@. [Option ID = 30216]

2. World Bank/fd¥ si& [Option ID = 30213]

3. Respective State Govt./Gsfd Iog WRBR| [Option ID = 30215]
4. Government of India/IRHR HRd DI [Option ID = 30214]

Correct Answer :-
« Government of India/SR®R HURA B! [Option ID = 30214]

16) Diagnostic research studies is a category of research that aims to

AP SR T AFHU Bt TP Aot § PoryepT SeRu
[Question ID = 15050]

1. Test the relationship between variables/TR & &t Y&e BT T&0T B [Option ID = 30198]

2. Analyze characteristics of something [fdt =t @t faRryaraft &1 fawasor A [Option ID = 30197]

3. Achieve new insights of a concept/Td dYRUN DI T3 ATV U B [Option ID = 30199]

4. Determine the frequency with which something occurs/39 &ﬂqﬁ[ 1 fAufRor 3 S Ty P glare [Option ID = 30200]

Correct Answer :-
o Determine the frequency with which something occurs/3d e«nql% P e &9 forges ary P grar %‘ [Option ID = 30200]

17) Ex Post Facto research means

T URe Bae! R &1 Adae @
[Question ID = 15033]

1. The research is carried out along with the happening of the incident/YcHl & °fed 8 & Y-y G@W ERISIGI % [Option
ID = 30131]

2. The research is carried out after the incident /ge-T & ST ST fpar Srar @ [Option ID = 30129]

3. The research is carried out keeping in mind the possibility of an incident. /[HE g1 B WU Dl = T I9d BU S HYH
fosar STaT 81 [Option ID = 30132]

4, The research is carried out prior to the incident-/3JHYUTT Tl Y ygd fpar i B- [Option ID = 30130]

Correct Answer :-
« The research is carried out after the incident /9T & &I ST ERISIGI] %‘ [Option ID = 30129]



18) Identify the correct sequence of research steps-

Y TR & &I HH DI UgaH-
[Question ID = 15029]

1. Selection of topics review of literature interpretation of findings, data collection [fawa 994, Tfe Hten et &t AT, 3T
TUg [Option ID = 30116]

2. Selection of topic, review of literature data collection, interpretation of findings/faﬁfq HI I, e ﬂiﬁ&ﬂ, 3T T8 B ﬂtﬂ&ﬂ,
st o R [Option ID = 30113]

3. Selection of topic, data collection, review of literature, interpretation of findings. /fawg & g, 3T IUg, e &t H‘ﬁﬁ&ﬂ,
fsHul &1 AT | [Option ID = 30115]

4. Review of literature, selection of topic data collection, interpretation of findings/ﬂ'ﬂ%?l P Wﬂ&ﬂ, ﬁmﬁ?ﬂ, ST TIE FT g,
st o RS [Option ID = 30114]

Correct Answer :-

« Selection of topic, review of literature data collection, interpretation of findings/[a%a &1 Tg=, e THi&, ST U B
eftef, FsHST Bt ARSAT [Option ID = 30113]

19) Identify the category of evaluation that assesses the learning progress to provide continuous feedback to the
students during instruction.

Rrem & R ol I ARG P wIfd B HAT FA F R FARER wfafrar e $37 9 geaie ot 4oft F1 ugmE B¥)
[Question ID = 15020]

1. Diagnostic/& [Option ID = 30078]

2. Summative/d A [Option ID = 30080]
3. Placement/@EHe [Option ID = 30077]
4. Formative/SRfY@& [Option ID = 30079]

Correct Answer :-
« Formative/9RfH@® [Option ID = 30079]

20) According to Radha Krishnan Commission the aim of Higher Education is —

AUTHOM TGN & TR S Rrei BT 32T 8 2
[Question ID = 15052]

1. Both To develop the democratic values, peace and harmony and To develop greater personalities who can give their

contributions in politics, administration, Industry and commerce./AIGdIAD E[\Rﬁ, TN 3R TgHTd BT AT AT 3R 31 T
31f¥e fad@ [Option ID = 30207]
2. To develop the democratic values, peace and harmony/FﬁWTﬁEF E[\Rﬁ, A 3R TGHTE BT [IH™ BT [Option ID = 30205]
3. To develop greater personalities who can give their contributions in politics, administration, Industry and commerce./3{&% I

31fie et fasRid B3 & forg o Toifa, U=, I iR aTforsy & 3uHT TRTe™ € Iahd g1 [Option ID = 30206]

4. neither To develop the democratic values, peace and harmony nor To develop greater personalities who can give their
contributions in politics, administration, Industry and commerce./d @ Aediae w, i 3R GHTT T faBTg BT 3R 7 &)
3{ffe | 31¢f [Option ID = 30208]

Correct Answer :-

» Both To develop the democratic values, peace and harmony and To develop greater personalities who can give their
contributions in politics, administration, Industry and commerce./?ﬁﬁTﬁE H?Iﬁ, TMifd 3R TeHTd BT fApTT BT 3R 3ifep
¥ 3ifere Afddd [Option ID = 30207]

21) In finalizing a thesis writing format which of the following would form part of supplementary pages.

R A uRey @Y sifow = u 3 A Frafafea § @ F19 91 e gut @1 i g
[Question ID = 15041]

1. List of tables and figures/ead 3R 3fidrel & Jt [Option ID = 30161]
2. Bibliography and Appendices. /34 H\?ﬁ 3R TRk ¥l [Option ID = 30164]



3. Conclusion of the study/3&Ig- &1 feny [Option ID = 30163]
4. Table of contents/ITHH! B! AITHT [Option ID = 30162]

Correct Answer :-

« List of tables and figures/cad 3R 3ffas! & YT [Option ID = 30161]

22) In fiber optics communication, the signal travels in the form of

PR AP FOR §, R=a & &u & a1 #da1 @
[Question ID = 15039]

1. Light wave/JdT=I &1 @ex [Option ID = 30153]
2. Radio wave/3fST1 @ [Option ID = 30154]
3. Electric wave/fdggd T [Option ID = 30156]
4. Micro-wave/HT3%! @eR [Option ID = 30155]

Correct Answer :-
« Light wave/J&TRI &I @&X [Option ID = 30153]

23) India’s first Defense University is located in which state of India?

YR &7 UgdT Y& fayfaemed HRa & forg 7a & fRya 82
[Question ID = 15053]

1. Haryana/gfaToT [Option ID = 30209]

2. Uttar Pradesh/3R Ue [Option ID = 30211]
3. Andhra Pradesh/3ff$f U&=T [Option ID = 30210]
4. Punjab/USTTd [Option ID = 30212]

Correct Answer :-
« Haryana/gRaTul [Option ID = 30209]

24) Indian Subcontinent was mainly a part of —

YR IUHETEIY Y&Id: T fear AT -
[Question ID = 15036]

1. Gondawana land /TiSaTT Y [Option ID = 30144]
2. Angara land/3ITRT Y [Option ID = 30142]

3. Jurassic land /SRTRI® YA [Option ID = 30141]
4. Aryvrata/3Tdgd [Option ID = 30143]

Correct Answer :-
+ Gondawana land /Ti€da™T Y& [Option ID = 30144]

25) Andragogy means

g o1 3k §
[Question ID = 15058]

1. Arts and Science of helping adults to learn/du%b! &1 Ya= & Heg HRA B BT 3R I [Option ID = 30229]
2. Teaching 3Rs/3 Rs fRrefor [Option ID = 30230]

3. Teaching Adult Education to school drop-outs/¥&® ¢ @ﬁ'&'ﬁ CIGED Eﬁ'c{ fRrem & [Option ID = 30231]

4. None of the above/BT@?H o3 ﬁ% B [Option ID = 30232]

Correct Answer :-

« Arts and Science of helping adults to learn/da%®b! &) UG & Aeg B Bt HaT 3R I [Option ID = 30229]



26) Harmonic mean of a series of data is

Pl P Th YTAT T sRAEIS ATer | ar0d 8
[Question ID = 15046]

1. Always ill-defined /H=TT AR TRHIT [Option ID = 30183]

2. None of the above/IWRIad & ¥ P15 78! [Option ID = 30184]

3. The reciprocal of the arithmetic average of the value of various items/faf¥d TXI37 & T & B AT BT URWRDB
[Option ID = 30182]

4. The reciprocal of the arithmetic average of the reciprocals of the values of its various items/ 310 fafire Tal & H\T@l & URWRS
F BN 3RId HT URTR [Option ID = 30181]

Correct Answer :-

« The reciprocal of the arithmetic average of the reciprocals of the values of its various items/30 faf¥rs Tl & Jedl &
IRWR® & HONNT 3 d BT YRR [Option ID = 30181]

27) Jana Shikshan Nilayams were established for promoting

S RrgoFTaea™ 9 gerar 31 & for wrfta fasar war ur
[Question ID = 15055]

1. Distance Education/gI® fRI&f [Option ID = 30219]

2. Continuing Education/ddd fRref [Option ID = 30217]

3. Formal Education/3No=mies fR1efm [Option ID = 30218]
4. Incidental Education/3Te R4 e [Option ID = 30220]

Correct Answer :-
+ Continuing Education/¥dd fRI&T [Option ID = 30217]

28) In which of the following arrangements a wider spectrum of ideas and issues may be made possible

fFrafafaa & ¥ g oo d ARy 3R g &1 te Jamue Weed THT 8 ol @
[Question ID = 15040]

1. Workshop mode/mm s [Option ID = 30158]

2. Symposium/ITST [Option ID = 30160]

3. Conference/IH T [Option ID = 30159]

4. Research Article/3 T8¢ 3fJw5¢ [Option ID = 30157]

Correct Answer :-
o Workshop mode/mﬁﬂ s [Option ID = 30158]

29) If the sample drawn does not specify any condition about the parameter of the population. It is called.

af; Rora T AT ST & WS F R F P 20 T e ¥1 @ pE R
[Question ID = 15044]

1. Distribution free statistics /faaRur Had m [Option ID = 30174]
2. Selected statistics /aafd 3fidws [Option ID = 30173]

3. Census/SI-TUT [Option ID = 30175]

4. None of the above/3SWRIdd H ¥ &S T8I [Option ID = 30176]

Correct Answer :-
« Distribution free statistics /fdaRUT gad 3ifars [Option ID = 30174]

30) Jhoom is —



-

[Question ID = 15035]

1. A river /U Ha! [Option ID = 30138]

2. A type of cultivation /T UHR Bt Wl [Option ID = 30140]

3. A tribe of North East India /3T} q;af YR &I TH S [Option ID = 30139]
4. A Folk Dance /U&% W& - [Option ID = 30137]

Correct Answer :-
« A type of cultivation /T% UHR P! Wil [Option ID = 30140]

31) Conducting surveys is the most common method of generating.

[Question ID = 15047]

1. Qualitative data /7Ol Scl [Option ID = 30187]

2. Primary Data/914ffi&% 3¢T [Option ID = 30185]

3. Secondary data/HT&fH& SeT [Option ID = 30186]

4. None of above/IWRIad & ¥ &Is gl [Option ID = 30188]

Correct Answer :-
+ Primary Data/"Tdf¥e el [Option ID = 30185]

32) Scurvy (bleeding of gums) is caused by the deficiency of which vitamin-

Wdl (AgS! A A T8) 59 fefiq & w1 3 giar 8-
[Question ID = 15038]

1. Vitamin C/fdeTf®= ¥ [Option ID = 30151]
2. Vitamin A /faeIf®= T [Option ID = 30152]
3. Vitamin K/faeTf&9 & [Option ID = 30149]
4. Vitamin B2/fdeIf&i9 & 2 [Option ID = 30150]

Correct Answer :-
« Vitamin C/fdeTf®= Tt [Option ID = 30151]

33) Reliability is most simply known as which of the following

faygaar 9ed T +u I g # F fF9d Tu # o o<t 8
[Question ID = 15048]

1. Appropriateness of interpretations on the basis of test scores./UX1&{0l & 3B & SMYR TR ARATSN BT JUYdddl| [Option ID =
30192]

2. Ways in which people are the same/d Xl o H ANT FHH H [Option ID = 30190]

3. Consistency or stability/<fd a1 fRRRAT [Option ID = 30191]

4. A rank order of participants on some characteristic./$® faRwarat R ufquiral &1 ¥ | [Option ID = 30189]

Correct Answer :-
» Consistency or stability[ﬂ’ﬂﬁftﬂ _Rd [Option ID = 30191]

34) Match the following List — I with List — II:

List—1I List - II

(i) Illiterate (1) Continuing Education Centre
(ii) School Drop-outs (2) Post literacy Centre

(iii) Neo-literate (3) Literacy Centre

(iv) Literate (4) Open Schooling



Fafafea R s A s - @ s a1 - 11

gt -1 gt - 11

(i) FReR (1) Tad e Fx

(i) ¥Bd F1U-3M13< (2) U AI&R $%
(iiii) Ta-Tq1ER (3) &Rl $5

(iv) S&R (4) gaa faermerdt Rream

[Question ID = 15059]

1. (i) (3) (ii) (4) (iii) (2) (iv) (1) [Option ID = 30233]
2. (i) (1) (i) (2) Giii) (3) (iv) (4) [Option ID = 30234]
3. (i) (4) (i) (3) i) (2) (iv) (1) [Option ID = 30235]
4. (i) (2) (ii) (3) (iii) (4) (iv) (1) [Option ID = 30236]

Correct Answer :-

o (i) (3) (i) (4) (iii) (2) (iv) (1) [Option ID = 30233]

35) Match the List-I with List-II by using the codes given below:

List -1 List — II
(I) Rabindranath Tagore (1) Nobel Prize for economics
(II) H.G. Khurana (2) Nobel Prize for physics
(III) Chandra Sekar (3) Nobel Prize for literature
(IV) AmartyaSen (4) Nobel Prize for Biology

i f3T 1T Fie &1 ITART FXF Gal- I1 & A1 Gaii- 1 BT Ffam o

gat -1 Tt - 11
(1) TSy [ (1) JIRA BT AT RIPR
(II) T | St | GgRTAT (2) Wifast &1 T REBR
(III) 5 AP (3) TR BT Nad RIFPR
(Iv) 3 a+ (4) Sita fag™ & fore ida TR

[Question ID = 15063]

1. (i) (3) (ii) (4) (iii) (2) (iv) (1) [Option ID = 30251]
2. (i) (1) (i) (2) Giii) (3) (iv) (4) [Option ID = 30249]
3. (i) (4) (i) (2) Giii) (1) (iv) (3) [Option ID = 30250]
4. (i) (2) (ii) (3) (iii) (4) (iv) (1) [Option ID = 30252]

Correct Answer :-
o (i) (3) (i) (4) (i) (2) (iv) (1) [Option ID = 30251]

36) Jean Piaget gave a theory of cognitive development of humans on the basis of his

S e A SrvA fF =Y & YR WR A & WIS ey o1 v Ry faar
[Question ID = 15042]

1. Evaluation Research/qcdieT 3JHYM [Option ID = 30168]
2. Applied research/3r/Ugad AU [Option ID = 30166]

3. Fundamental research /ﬁﬁf@ &W‘r‘ﬂ:{ [Option ID = 30165]
4. Action research/®IaTs 3fIHYM [Option ID = 30167]

Correct Answer :-
« Fundamental research /Iﬁﬁ*ﬁ 3IJHYUTT [Option ID = 30165]

37) NAAC accreditation of a university reveals

o fayfaeed & NAAC TI=IdT &1 Ul 9o @



[Question ID = 15068]

1. The level of quality in the university/fdyfaeTer & T[urax &1 TR [Option ID = 30269]
2. The weakness of university/fa4fa=ad @ HHSIRT [Option ID = 30271]

3. The advice given to the university/ﬁ%’ﬁ"am P 3t T3 TAE [Option ID = 30272]

4. The merits of the university/fd¥fa=Ter™ 3 T[0T [Option ID = 30270]

Correct Answer :-
« The level of quality in the university/fa%fa=ITerd & TG &1 ¥R [Option ID = 30269]

38) What is the main objective of research?

MY BT YT I3 T 2?2
[Question ID = 15023]

1. To summaries what is already known /IRI=T S Ugd 9 gl 31 % [Option ID = 30090]

2. To get an academic degree/Ush e fSTht ura = [Option ID = 30091]

3. To review the literature /TTfgcd P! THI&T BT [Option ID = 30089]

4. To discover new facts or to make fresh interpretation of known facts./ ¢ T D WS HAT T J1d a2} B B1Y R T sarem
AT [Option ID = 30092]

Correct Answer :-

« To discover new facts or to make fresh interpretation of known facts./ T I &1 WS HAT T J1d 9 D ¢ RR T AR
AT [Option ID = 30092]

39) What is a Patent?

TP Ude |1 2?

[Question ID = 15064]

1. Document of the library/Q&dhTcid ®T q¥dlds [Option ID = 30254]

2. An agreement between library and Publisher/J¥dehTeid 3R UPBTP & S T JHSNAT [Option ID = 30256]

3. An agreement between the inventor and the Government/3{TTISPR® 3R TRHR H s T JHZNAT [Option ID = 30255]
4. An agreement to the Government/dRpR ¥ foQ v gHghar [Option ID = 30253]

Correct Answer :-
« An agreement between the inventor and the Government/ 3{TfASHRE 3R WHR & T Th ?ITI@HT [Option ID = 30255]

40) National Knowledge Commission was constituted in the year?

YT [ AT 1 75 far ay ur?
[Question ID = 15069]

1. 2003 [Option ID = 30273]
2. 2005 [Option ID = 30275]
3. 2004 [Option ID = 30274]
4. 2006 [Option ID = 30276]

Correct Answer :-
e 2005 [Option ID = 30275]

41) The principles of fundamental research are used in —

fere sy & Ricial o1 ST fsar sian 3 -
[Question ID = 15027]

1. Historical research/QfdgTRi& MY [Option ID = 30108]
2. Applied research [TTRTNG 3= [Option ID = 30106]



3. Action research /&1Rdlg $IHYUM [Option ID = 30105]
4. Philosophical research /QIR % MY [Option ID = 30107]

Correct Answer :-

o Applied research VEICHIRED 3T [Option ID = 30106]

42) The study of gerontology is related to which of the following-

RIIeTeh o1 sremae Frafifad § 9 frad Tefie 2-
[Question ID = 15037]

1. Female /H9fgdT [Option ID = 30146]

2. Old-age/9RT 3 [Option ID = 30148]

3. Child infant /STe fRI [Option ID = 30145]

4. Disease of skin/cddl Il T [Option ID = 30147]

Correct Answer :-
+ Old-age/gR™ 3Y [Option ID = 30148]

43) The variable which impacts the relationship between an independent variable and a dependent variable is
known as-

I8 W Sl TP o IR 3R TP 3Nfd R F 91 Jay Y yH1fad Fa1 8, 39 9 F =u A w11 e @8-
[Question ID = 15025]

1. Antecedent variable /tga%ra [Option ID = 30097]
2. Precedent variable/G¥Td=R [Option ID = 30098]
3. Predictor variable/3{"TH =R [Option ID = 30099]
4. Control variable/fAd30 =R [Option ID = 30100]

Correct Answer :-
« Control variable/fST=0T TR [Option ID = 30100]

44) The University Grants Commission was constituted on the recommendation of

fayfaermera srer M #t Rywifer w wfda far war o
[Question ID = 15060]

1. Kothari Commission/@I&IRT AT [Option ID = 30240]

2. Mudaliar Commission/ﬂ'c("WR ST [Option ID = 30238]

3. Dr. SarvapalliRadhakrishnan Commission/S1 SaUGRTHTEH SIRT [Option ID = 30237]
4. Sargent Commissionm"c' HHTH [Option ID = 30239]

Correct Answer :-
« Dr. SarvapalliRadhakrishnan Commission/ﬁﬁqﬁﬁﬂwﬂ?ﬁ ST [Option ID = 30237]

45) The concept of “global Village” gained acceptance mainly because of the developments in the field of

"Eied A" @t STURYT B GBI FU A 39 & & [AHT & SR Wipid et
[Question ID = 15067]

1. Aviation/Gfdu=M [Option ID = 30268]

2. Sea transport/IHg! URdg [Option ID = 30265]
3. Communication/SdR [Option ID = 30267]

4. Printing/4<UT [Option ID = 30266]

Correct Answer :-
« Communication/I@R [Option ID = 30267]



46) The research stream of immediate application is.

TP START A A aTelt SFHYUT URT 8- ?
[Question ID = 15021]

1. Conceptual research /a?ﬂ% 3IHYT [Option ID = 30081]

2. Empirical research/3fHaui=0 YT [Option ID = 30084]

3. Fundamental research /Iﬁm 34T [Option ID = 30083]
4. Action research/fohaTde SHYT [Option ID = 30082]

Correct Answer :-
« Action research/fehdTce® SHY [Option ID = 30082]

47) The National Bank of Agriculture and Rural Development (NABARD) was set up in the year

AP P SR ArHivr AT §% (NABARD) &Y RITTHT | o Y oA off

[Question ID = 15061]

1. 1982 [Option ID = 30243]
2. 1980 [Option ID = 30241]
3. 1984 [Option ID = 30244]
4. 1981 [Option ID = 30242]

Correct Answer :-
e 1982 [Option ID = 30243]

48) Research ethics do not include
U B Mpar § WG AR
[Question ID = 15032]

1. Objectivity/fSI&fdT [Option ID = 30128]

2. Subjectivity/fdduRedl [Option ID = 30126]

3. Honesty/érl ETAR] [Option ID = 30125]
4. Integrity/qufdT [Option ID = 30127]

Correct Answer :-

« Subjectivity/safHduRedT [Option ID = 30126]

49) A researcher divides his population in to certain groups and fixes the size of the sample from each group is
called

g;ﬁga%»—cﬁemﬁuﬁumﬁwﬁwﬁwﬁawwﬁmﬁmm%eﬁ?mwﬁwﬁ%maﬁﬁmmﬁ

[Question ID = 15043]

1. Quota Sample/ﬁ?‘[ AT [Option ID = 30170]
2. All of the above/IWRIad T+ [Option ID = 30172]
3. Cluster sample/&T¥R FHT [Option ID = 30171]

4. Stratified Sample/RIgd THAT [Option ID = 30169]

Correct Answer :-
« Quota Sample/@Tel AT [Option ID = 30170]

50) A research paper-



T& MY U3-

[Question ID = 15030]

1. Contains peer reviewed original research or evaluation of research conducted by others. /gHTfgd TeHHl gRT fhT Y STYT &
TS ST 1 Yo & THTel $HRal g1 [Option ID = 30119]

2. Contains original research as defined by the author/Rg® gRT GRHIRYT Hd nYy [Option ID = 30118]

3. A compilation of information on a topic/W v R TSR &1 Hhad [Option ID = 30117]

4. Can be published in more than one journal. /U T 3w SHA (Qﬁ?mﬁfﬂ) T gep1fRId fopar o G g [Option ID = 30120]

Correct Answer :-

» Contains peer reviewed original research or evaluation of research conducted by others. /aHRd TeHH! gRT feum
ST & Hd ATHYT I Gidh P THIeT HRaT &1 [Option ID = 30119]



